

Louisville Area Service Committee of Narcotics Anonymous

Area Service Minutes

# August 7, 2022

Note:

Zoom ID 627-801-1776

Password: 123987

# Louisville Area Service Committee of Narcotics Anonymous

# Executive Committee Meeting Notes & Area Service Notes

# Date: August 7, 2022

# **Executive Committee Meeting 2:00 PM**

Prepared the room for the meeting. Present were Chair, Secretary, Treasurer, Literature. Prepared the agenda for the meeting and examined emails from homegroups. Counted ballots received by email.

# **Area Service Meeting**

Meeting opened by Chair Robert J. at 3:00 PM Chair asked if there were any inexperienced GSRs: 1 Chair asked if someone could help the new GSR: An experienced GSR helped

The Concepts and Definition of Area Service read by: Vice-Chair Darlene H. Roll call taken by Secretary, Roll Call Attached. Quorum: 10 Home Groups Present: 24 Home Groups with Voting Status: 24 New Home Groups present: 0

Motion to Accept last month's minutes: How It Works  $2^{nd}$ : Another Chance

# Reports

Chair – No Report Vice Chair – No Report

**Secretary** –Suggested that all GSR's present in person sign in. GSR's on Zoom put their contact information in the Chat box. Asked if all homegroups were able to access and see the July Minutes and offered help to any GSR having issues.

Treasurers Report – Amber H. Report given and submitted – Attached. Motion to Accept: Agape Group 2nd: Miracle on 22<sup>nd</sup> Street

RCM – Rodney B. Gave report from The Region.

RCMA – Position vacant.

Activities – Tarsha C.- Report given and submitted - ATTACHED

H&I – Larry K. – Report Given and submitted - ATTACHED

LACNA 32 – Angela E. Report Given and submitted - ATTACHED

Literature – Barrett G. Report Given and submitted -ATTACHED Newsletter – Position vacant P&P – position vacant

PR – position vacant

BREAK: 10 mins 3:50 - 4:05

**Old Business:** Voting Results from July Nominations: LASCNA Chair nominee, Crystal C.- Voted in by 2/3 majority vote.

Public Relations Chair nominee, Stanley B. Voted in by 2/3 majority vote.

Motion 7-A-22 passed

# Nominations:

# **Positions Open:**

RCM, RCMA, Newsletter, P & P Chair.

# **Motions: None**

Next meeting is September 11, 2022.

Secretary reviewed the minutes of the day. Secretary took 2<sup>nd</sup> roll call with group reports.

# **Open Forum: Topics Brought up/ discussed.**

LASCNA - 20	2	N	A	2022 August Roll Call	D	St	R	0		C C							
	NAL	FEB	۵	Mar		APR	MAY		NUL		าก	AUG	U	SEP	OCT	NOV	DEC
POSITION/Committee																	
Chair	×	×	×	x x	×	×	×	×	X X	×	×	×	×				
Vice Chair	×	×	×	××	×	×	×	×	××	×	×	×	×				
Secretary	×	×	×	x x	×	×			X X	×	×	×	×				
Treasurer	×	×	×	××	×	×	×	×	××	×	×	×	×				
H&I	×	×	×	×	×	×	×	×	××	×	×	×	×				
LACNA 32		×	×		×	×	×	×	××	×	×	×	×				
Literature		×	×	××	×	×	×	×	X X	×	×	×	×				
P&P VACANT	×																
RCM	×				×	×			X X			×	×				
RCMA VACANT																	
ACTIVITIES		×	×	××	×	×			××	×	×	×	×				
PUBLIC RELATIONS vacant																	
NEWSLETTER vacant																	

S
2
5
0
Ľ
50
Ð
Ο

	JAN		FEB	Mar		APR	MAY	۲	NUL		JUL	Ā	AUG	SEP	OCT	NOV	DEC
A Vision of Hope	×	×		×	×				×	×		×	×				
Against All Odds	××	×	×	×	××	×	×	×	×	× ×	×	×	×				
Agape	X X	×	×	×	x x	X	х	×	×	x x	X	×	х				
Another Chance		×	×	×	×		×	×	×	×		×	×				
Caring Through Sharing	×	×	×		×	×	×	×		××	×						
Escape from Denial	××	×	×	×	××	×	×	×	×	×		×	×				
Gratefully Dedicated		×	×	×	××	×	х	×	×	x x	×						
Highland Peace		×	×	×	x x	X	х	×	×	x x	X	×	×				
How It Works	××	×	×	×	× ×	×	Х	×	×	x x	×	×	×				
Just Us	××			×	x x	X	Х	×	×	x x	×	×	×				
Lose the Desire	X X	×	×	×	x x	X	х	×	×	x x	X	×	х				
Miracle on 22nd Street		×	×	×	x x	X	Х	×	×	x x	X	×	х				
Out of Control	×	×	×		×	×	×	×	×	X X	×	×	×				
Point of Freedom	×	×	×	×	××	×	×	×	×	X X	×	×	×				
Reach for Recovery	×	×	×	×	×			×	×	X X	×	×	×				
Recovery Today	××	×	×	×	× ×	×	×	×	×	××	×						
Recovery At Work		×	×	×	×	×	×	×	×	× ×	×	×	×				
Saturday Night Live	××	×	×	×	××	×	×	×	×	X X	×						
Serenity on Sunday	×	×	×	×	××	×	×	×		×	×	×	×				
Standing for Something	××	×	×	×	××	×	×	×	×	X X	×	×	×				
Starting Over		×	×		×	×	×	×			×	×	×				
Step Up Group	×																
Surrender to Acceptance					×	×											

Take it Easy				Х	×			×	×	x x	X	×	×	×				
The Key Tag Group																		
The Stopping Point				Х	×								×	×				
Walking & Talking Recovery	××	×	×	х	×	×	×	×	×	X X	X		×	×				
We Too Recover	××	×	×	×	×	×	×	×	×	X X	X	×	×	×				
Welcome Home		×	×	Х	×	×	×		^	××			×	×				
Why Are We Here	x x	×	×	х	×	×	×	×	×	X X	X	×	×	×				
Women in Recovery	×	×	×	×	×	×	×		^	××	×		×	×				

July 31, 2022

LASCNA TREASURER REPORT

Hello Everyone,

This is the LASCNA treasurer report for the period ending July 31, 2022. The beginning balance on July 1<sup>st</sup> was \$13,992.62. We had a total deposit in the amount of \$3,405.92. Of that, \$1,391.64 is from homegroups 7<sup>th</sup> traditions and donations, and \$2,014.28 from literature sales. We had withdrawals totaling \$526.44. This includes \$15.89 for monthly Zoom account; \$303.00 to our Secretary Chair for monthly allotment; \$51.95 to Life Storage; \$50.00 to NAWS, Inc for our monthly donation and \$105.60 to the United States Post Office for stamps as well as our annual PO Box fee.

The ending balance for the month of July 31,2022: \$16,872.10

This is my report.

Sincerely yours,

Amber H.

# Non-Profit Checking



033070249

	For the Period 07/01/2022 to 07/29/2022	Primary Account Number: Page 1 of 2 Number of enclosures: 0
	LOUISVILLE ASC NARCOTICS 151 MULBERRY ALY BARDSTOWN KY 40004-1446	<ul> <li>For 24-hour banking sign on to</li> <li>PNC Bank Online Banking on pnc.com</li> <li>FREE Online Bill Pay</li> <li>For customer service call 1-877-BUS-BNKG</li> <li>PNC accepts Telecommunications Relay Service (TRS) calls.</li> <li>Para servicio en espanol, 1-877-BUS-BNKG</li> </ul>
		Moving? Please contact your local branch
		<ul> <li>Write to: Customer Service</li> <li>PO Box 609</li> <li>Pittsburgh, PA 15230-9738</li> <li>Visit us at PNC.com/smallbusiness</li> </ul>
ald		Louisville Asc Narcotics

# Non-Profit Checking Summary

Account number:

07/29

Overdraft Protection has not been established for this account. Please contact us if you would like to set up this service.

1,353.92

Deposit

Balance Summa	ary						
	-	Beginning balance	Deposit other add	s and litions	Checks and other deductions	Ending balance	
	1	13,992.62	3,40	5.92	526.44	16,872.10	
					Average ledger balance	Average collected balance	
					14,547.28	14,488.07	
Deposits and Other	Additions			Checks ar	d Other Dedu	uctions	
Description		Items	Amount	Description		Items	Amount
Deposits		4	3,405.92	Checks		2	353.00
				Debit Card	Purchases	1	51.95
				POS Purch	ases	2	105.60
				ATM/Misc. Transactior		1	15.89
Total		4	3,405.92	Total		6	526.44
Daily Balance							
Date	Ledger balance	Date		Ledger bala	nce Date		Ledger balance
07/01	13,992.62	07/11		14,940	87 07/2	21	14,587.87
07/05	13,871.13	07/20		14,890	87 07/2	29	16,872.10
07/06	13,819.18						
Activity Detail							
Deposits and Other	Additions						
Deposits							
Date posted	Amouni	Transaction description					Reference number
07/11	660.36						032326958
07/11	461.33						032326972
07/29		Deposit					033070230

# **Non-Profit Checking**

For 24-hour account info	ormation, sign-on	to			Period 07/01/2022	2 to 07/29/2022	
pnc.com/mybusiness/					e Asc Narcotics		
Non-Profit Checking A	ccount Numb	oer:	continued	Primary Page 2 d	Account Number of 2		
Checks and Ot	her Dedu	uctions					
Checks and Subst	titute Chec	:ks	* Gap in check seque	ence			
Date Check posted number	Amo	Reference unt number	Date Check posted number		ference number		
07/20 4037 *		0.00 072573661	07/21 4044 *		73807831		
Debit Card Purcha					-		
Date posted	Amount	Transaction description					Reference number
07/06	51.95		Card Purchase Lif	fe Storage 8134 Eco	m	2337487009	
*		716-63318					
POS Purchases							
Date posted		Amount	Transaction description				Reference number
07/05		94.00	•	PS PO 200388 Barc	lstown Ky	POS99999999	
07/05		11.60	POS Purchase US	PS PO 200388 Bard	lstown Ky	POS99999999	1938864
ATM/Misc. Debit C	Card Trans	actions					
Date posted		Amount	Transaction description				Reference number
07/05		15.89	•	ebit Card Zoom.US 8	88-799-9666	3990587009089	90243186
			Www.Zoom.US Ca				
Detail of Services	Used Duri	ng Current	Period				
Note: The total charge line item entitled Servio	e for the follow ce Charge Pe	wing services eriod Ending 0	will be posted to your 7/29/2022.	account on 08/01/2022	2 and will appear	on your next statement as	a single
** Combined Transacti	ions include /	ACH Credits, /	ACH Debits, Checks F	Paid, Deposited Item - 0	Consolidated, De	posit Tickets Processed	
Description			,	Volume	Amount		
Account Maintenanc	ce Charge				.00	Requirements Met	
Combined Transacti	ions			62	.00	Included in Account	
Checks Paid				2	.00		
Deposited Item - C		b		56	.00		
Deposit Tickets Pr				4	.00		
Total For Services U		eriod			.00		
Total Service Charge	е				.00		





Amber Hesketh <counasseamber@gmail.com>

# Life Storage Rental Payment Successful

**Life Storage** <noreply@email.lifestorage.com> To: tcampb16@bellsouth.net, counasseamber@gmail.com Tue, Jul 5, 2022 at 9:10 AM



# Your Storage Rental Payment was successful. Thank You!

Your payment will be applied to your account by the next business day. Please save this email as your receipt of payment.

# **Payment Summary**

Store Number: 8134 Storage Space: 307: (7/1/22 to 8/1/22) Transaction Number: **608951875** Payment Amount: **\$51.95** Payment Date: 7/05/2022 at 9:10 AM Credit Card: Visa

Card Number: 0243 Exp. Date: XX/XX First Name: Amber Last Name: Hesketh

Note: If your address and contact information has changed, please be sure to edit your personal information online at lifestorage.com. If you have listed a new address in order to make a payment, this does not change contact information in your account or on your storage Rental Agreement.

## Would you like to make your rental payment by credit card every

**month?** Enroll in Automatic Credit Card Payments! You can enroll online or at our store office.

If you have any questions or issues with this payment, please contact Life Storage at (866) 861-2805 or payments@lifestorage.com.

This electronic transmission is intended only for the use of the individual or entity to which it is addressed. If you have reason to believe that you are not the intended recipient, you are hereby notified that any disclosure, copying, distribution or the taking of any action in reliance on the contents of this electronic transmission is strictly prohibited. If you have reason to believe that you have received this transmission in error, please call Life Storage immediately at payments@lifestorage.com and delete and destroy this communication.

		STA SER	
510 W STEP BARDSTOWN,		STER AV 004-999	
07/05/2022			02:31 PM
	Qty		Price
1-Yr Box Box ZIP Code: 400 Box Number: 920 Box Size: Size 2 Rental Period: An Rental Start Date Next Renewal Date Key Fee Keys Deliver Key Deposit Key Count: 2 Key Number: 0 Total	004 - 5 i nnual e: 07/ e: 06/ ed: 2 00113	70572022 73072023	\$0.00 \$10.00 \$94.00
Grand Total:			\$94.00
Debit Card Remitted Card Name: VISA Account #: XXXXX Approval #: 0584 Transaction #: 5 Receipt #: 038850 Debit Card Purch AID: A00000009800 AL: US DEBIT PIN: Verified	XXXXXX 15 10 6 ase: \$ 840	(XO243 394.00	\$94.00 Chip

\_\_\_\_\_



07/05/2022		<b></b>	02:33 PM
Product	Qty	Unit Price	Price
US Flags	20	\$0.58	\$11.60
Grand Total:			\$11.60
Debit Card Remitt Card Name: VI Account #: XX Approval #: O Transaction # Receipt #: O3 Debit Card Pu AID: A0000000 AL: US DEBIT PIN: Verified	SA XXXXXXXXXX 16225 : 511 8857 rchase: \$ 980840		\$11.60 Chip
****************** Every househ eligible to of 8	old in th	ne U.S. a third	is now

.

PNC Online Banking			
Date	Description	Amount	Account
07/20/2022	Check 4037	\$50.00	XXXXXX7117

This is an image of a check, substitute check, or deposit ticket. Refer to your posted transactions to verify the status of the item. For more information about image delivery click here or to speak with a representative call: 1-888-PNC-BANK (1-888-762-2265) Monday - Friday: 7 a.m. - 10 p.m. ET, Saturday & Sunday: 8 a.m. - 5 p.m. ET.

AK 34410	LE ASC NARCOTICS 1817 S 23RD ST UISVILLE, KY 40210-2153	04-21 DATE	4/5/22	<u> </u>	4037 21 10830 620 620
FOR MOOTHLY DONATON			anter of	1 \$ 50 10 DOLLA	
*00403?** 13 043000405 047067117 03094164004/200103 (4-	083000108: 301	7057117	•	WRITE MANEL	R/T: 12201606
ter non Microsof als inservices statute feld als in Bernden Uternand die offensie meet to indicate plinete name demostrea via analytic diese aug. To deter hand i Macaarstei (1955) foreig poi ren die name diese aug. To deter hand i Macaarstei (1955) foreig poi ren die name diese aug. To deter hand i Macaarstei (1955) foreig poi ren die name hand i Macaarstei (1955) foreig poi ren die name hand i Taer words. Biogradi - toan vision on tront ann hand i Pointo Sate Biogradi - toan vision on tront ann band. Biologi Anadi if: i Taer words die forstenen festivit almose ann wir sing and service alternat i Taer words die forstenen festivit almose ann wir sing and service alternat i Taer words die forstenen festivit almose ann wir sing also and service alternat i Taer words die books mens auf lass diskappared Biologi Anadi Wash Detechtion book i Taer alternatie Wash Detechtion book		240 25 262	а с. т. к т.	: MODILE, REMOTE DEPOSIT	595

© Copyright 2010. The PNC Financial Services Group, Inc. All Rights Reserved.

2001 Chinaman

PNC Online Banking			
Date	Description	Amount	Account
07/21/2022	Check 4044	\$303.00	XXXXXX7117

This is an image of a check, substitute check, or deposit ticket. Refer to your posted transactions to verify the status of the item. For more information about image delivery click here or to speak with a representative call: 1-888-PNC-BANK (1-888-762-2265) Monday - Friday: 7 a.m. - 10 p.m. ET, Saturday & Sunday: 8 a.m. - 5 p.m. ET.

LOUISVILLE ASC NARCOTICS 04-21 1917 S 238D ST LOUISVILLE, KY 40210-2153	4044 21-10/22 DATE 7/10/22 00-11-02-30 820
PAY TO THE OF MIKE HOalker	\$ 303 Nos
OPPNCBANK	
FOR Secretary monorhly Allot. (	Rubu Holon -
#DOLOLL# #C83000108# 3017067	11711 Darlene Hays
N	
5. 776	VATES-ITE
upo ("stant rotoni) adorao stradindi para andudo ante - 11 a augusta strata negativa a negatir a stanta a stanta	C TOP
et as βt (at , ac debe known in antr 200 et trajlaren en til trans is te ter at a da andres i betattil ad trans at ter sedar til tra	NOBILE REN
sont at the aff and stated at 10 Geo Real at Sont a constant of the beat	REIN
noten fra frances de le translet de la completa ultred la transleta de la completa de la completa ultred la completa de la completa de la completa de la completa de la la completa de la comp la completa de la comp	FOR HOBILE REINTE DEPOSIT
© 🗅	m

© Copyright 2010. The PNC Financial Services Group, Inc. All Rights Reserved.

# LASCNA Secretary Report

8/7/2022

4518 Accomack Dr. Louisville, KY 40241

Hello Family,

The area minutes continue be distributed on the area website www.nalouisville .net. At the request of some homegroups the minutes were distributed by USPS. I have contacted ERNIE'S Print Shop who in the past have rendered print services for this area. Printing only of 30 sets of minutes at the cost of \$117.39. The cost to Print, package and mail the minutes is \$334.39 per month.

To date I have received \$303.00 of the secretarial budget. Expenditures were \$114.32, receipts are attached. As of August 8, the remaining un-used balance is \$188.68.

In Loving Service

Mike W.

# Secretarial Budget - July

	A	B	υ		ш	u	U		
2	July	Allotment	Ş	Expenditure	\$3	Credits	\$2	Debits	
Ω	July	Allotment		Expenditure		Credits		Debits	
4		\$303		April Postage					\$17.64
ъ				May Postage					\$13.95
9				June Postage					\$20.60
$\sim$				July Postage					\$37.20
∞									\$3.04
6				Printer Ink					\$21.89
10									
11				Total					\$114.32
12	July Balance	\$188.68							\$188.68
13									
14	August Beginning Bal.	\$188.68							
15									
16									
17									
18									
19									
20									
21									
22									
23									
24									
25									
26									
27									
28									
29									
30							_		
31									

UNITED STATES POSTAL SERVICE

Tax

LYNDON 8127 LA GRANGE RD LOUISVILLE, KY 40222-9998 (800)275-8777 04/18/2022 10:22 AM Product Qtv Unit Price Price First-Class Mail@ 1 \$1.96 Large Envelope Louisville, KY 40203 Weight: O lb 4.30 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail® 1 \$1.96 Large Envelope Louisville, KY 40222 Weight: 0 1b 4.40 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail® \$1.96 Large Envelope Louisville, KY 40203 Weight: 0 1b 4.40 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail® 1 \$1.96 Large Envelope Louisville, KY 40203 Weight: 0 1b 4.50 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail@ 1 \$1.96 Large Envelope Louisville, KY 40228 Weight: O lb 4.30 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail® 1 \$1.96 Large Envelope Louisville, KY 40203 Weight: 0 1b 4.30 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail@ 1 \$1.96 Large Envelope Louisville, KY 40210 Weight: 0 1b 4.70 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail® 1 \$1.96 Large Envelope Louisville, KY 40228 Weight: 0 lb 4.70 oz Estimated Delivery Date Wed 04/20/2022 First-Class Mail@ 1 \$1.96 Large Envelope Louisville, KY 40229 Weight: O 1b 4.70 oz Estimated Delivery Date Wed 04/20/2022 Grand Total: \$17.64 Debit Card Remitted \$17.64 Card Name: VISA Account #: XXXXXXXXXXXXXXX3026 Approval #: 080081 Transaction #: 545

Receipt #: 027541

Debit Card Purchase: \$17.64

The UPS Store #2928 9462 Brownsboro Rd Louisville, KY 40241-1118 502-327-0848 lerminal....: P0529286 Date: 5/19/3072 Employee...: 200577 Time.: 12:24 PM TIEN NAME DIV PRICE TOTAL First Class Inckage \$13.95 1 0 \$13.95 \$0.00 HHSH4HRD9294F Tracking Number Subtotal \$13.95 Shipping/Other Charges \$0.00 Total tax \$0.00 JNITED STATES OSTAL SERVICE lotal \$13.95 LYNDON 8127 LA GRANGE RD Cards \$13.95 VILLE, KY 40222-9998 ana any kaodim-paositra amin'ny fanisana a Ina fanisana amin'ny fanisana amin'ny fanisana amin'ny fanisana amin'ny fanisana amin'ny fanisana amin'ny fanis (800)275-8777 06/30/2022 03:15 PM Product Qtv Unit Price Price First-Class Mail® 1 \$1.76 Large Envelope S<u>helbyville, KY 40</u>065 Weight: O 1b 3.70 oz Estimated Delivery Date Sat 07/02/2022 First-Class Mail® \$1.76 Large Envelope Louisville, KY 40210 Weight: O lb 3.70 oz Estimated Delivery Date Sat 07/02/2022 First-Class Mail® \$1.96 1 Large Envelope Louisville. KY 40215 Weight: 0 lb 4.10 oz Estimated Delivery Date Sat 07/02/2022 First-Class Mail® \$1.76 1 Large Envelope Louisville, KY 40211 Weight: O lb 3.70 oz Estimated Delivery Date Sat 07/02/2022 First-Class Mail@ \$1.76 1 Large Envelope Louisville, KY 40203 Weight: O 1b 3.70 oz Estimated Delivery Date Sat 07/02/2022 US Flags Bklt/20 \$11.60 \$11.60 1 Grand Total: \$20.60 Debit Card Remitted Card Name: VISA \$20.60 Account #: XXXXXXXXXXXXXXX3265 Approval #: 076037 Transaction #: 294 Receipt #: 036347 Debit Card Purchase: \$20.60 AID: A000000980840 Chip AL: US DEBIT

TRANSACTION DATE: THUR 19 MAY 2022	IBEL. PLEASE SAVE FOR YOUR RECORDS.
EXPECTED DELIVERY DATE:	USPS FIRST CLASS MAIL 1 lb 4.10 oz total weight 0 lb 2.3 oz each piace
N/A KY	11.50X6.13X0.25 9 PIECES
MAIL FROM:	TRACKING & REFERENCE
MAIL TO: UNITED STATES	SHIPMENT ID: MMSH4MRD9Z94F ORDER/ITEM #:
UNITED STATES 40203	REF#: Article number not collected
VATI PR VIDAUAU.	DESCRIPTION:
MAILED THROUGH: The UPS store #2928 Louisville,ky 40241-1118	POSTAGE CHARGES
(502) 327-0848	FIRST CLASS MAIL 1.55 PIECES X 9
	TOTAL \$13.95
COMPLETE ONLINE TRACKING: ENTER HTTP://THEUPSSTORE.COM (SELECT QUESTIONS? CONTACT SHIPPED THROU	R THIS ADDRESS IN YOUR WEB BROWSER TO TRACK: TRACKING. ENTER SHIPMENT ID (*) SHIPMENT JGH ABOVE.
Get 15% Off Your Nex	xt Print Job
With \$10 minimum order.	
IN-STORE AT PARTICIPATING LOCATIONS	
	SONLY
SHIPMENTID: MMSH4MRD9Z94F	
SHIPMENTID: MMSH4MRD9Z94F	
SHIDMENTID: MMSH4MRD9Z94F	In of liability. Where allowed by law, thipper authorities UPS to act as forwarding agent for export control and animalities, tuckning your of bases were exported from the US in accordance with the Export Administration RD R 0222
SHIPMENTID: MNSH4MRD9Z94F	In of flability, Where allowed by faw, shipper authorities UPS to act as forwarding agent for export control and anomolities, technology or othere were exported from the US in accordance with the Export Administration RED R 0222
SHIPMENTID: MNSH4MRD9294F	In of Itability. Where allowed by low, shipper authorizes UPS to act as forwarding agent for export control and commodility, where allowed by low, shipper authorizes UPS to act as forwarding agent for export control and commodility, where allowed by low, shipper authorizes UPS to act as forwarding agent for export control and commodility, where allowed by low, shipper authorizes UPS to act as forwarding agent for export control and REP R 0222
SHIPMENTID: MNSH4MRD9294F Pouered by (Ship(r) 05/19/2022 05:23 All Pacific Time N SEENOTCE ON REVERSE regarding UPS Yerms, and notice of limitation customs purposes. Meroorded from the US, shoper cuttles to the or Regarding. Diversion contrary to be is published. Tritarik you: ID #: 7kg97P2PP Wallmaartt 502-326-9166 Mgr : M 3706 DIANN MARII LOUISVILLE KY 44 STH 0052/5 OPP DU0327 TEB	The UPS Store & not flability. Where allowed by law, shipper authorizes UPS to act as forwarding agent for export control and normality, which agent the second from the US in accordance with the Export Administration NOR 0222 The Control of the Control of the Second from the US in accordance with the Export Administration NOR 0222 The Control of the C
SHIPMENTID: MNSH4MRD9294F Poured by (Ship(r) 65/19/2022 67:23 AT Pocific Time N SEENOTCON REVERSE reporting UPS forms, and notice of limitation control pourpoist, Foroinal form that 5, adjoor critics that the co- Registrian. Control form that 5, adjoor critics that the co- Registrian. Control control for the polability. Thank you! 1D W: 7KG97P2PP Wairman to pourpoist 502-326-9166 Mgr : P 3706 DIANN MARIE 200525 OPH 000327 TEM INK 00526 OPH 000327 TEM INK 0086496296366	The UPS Store & not flability. Where allowed by law, shipper authorizes UPS to act as forwarding agent for export control and normality, which agent the second from the US in accordance with the Export Administration NOR 0222 The Control of the Control of the Second from the US in accordance with the Export Administration NOR 0222 The Control of the C
SHIPHENTID: MNSH4MRD9294F Pourred by Ship(r) 85/19/2022 85/23 AT Pacific Time N SENDECONNECTED Reporting UPS Terms and notice of the black content property to box 6 penalitations. Thank you: ID #:7Ro97P2PP Walrmaart 502-326-9166 Mgr: M 3706 DIANN MARIE LOUISVILLE KY 44 STM 00526 0P4 000327 TEB INK 088495296366 SUBTIOT TAX 1 6.000 %	The UPS Store The UPS Store Inditability. When allowed by low, shipper authorizes UPS to act as forwarding agent for experience with the Bener BER 02222 The UPS Store BER 0222 The UPS Store BER 0223 BER 0222 The UPS Store BER 0223 BER 0223 BER 0223 BER 0224 BER 0224
SHIPMENTID: MNSH4MRD9294F Pouered by IShip(r) 65/19/2022 63:23 All Pacific Time N SEENOTE ON REVERSE regueing UPS Term, and notice of limitation regueinsche Comparison for the Stategore critics that the critic Regueinsche Comparison for the publicht. THAIRE YOU! ID #: /RG97P2PP Wallemaart 502-326-9166 Mgr : M 3706 DIANN MARILE 502-326-9166 Mgr : M 3706 DIANN MARILE LOUISUILLE KY 44 STM 00526 OP4 000327 TER INK 088495296361 TOT TAX 1 6.000 % SUBTOT TAX 1 6.000 % TOT DEBIT TE CHANGE DI EFT DEBIT PAY FROM	The UPS Stores The UPS Stores and Hability. Where allowed by law, shipper authorities UPS to act as forwarding agent for export control and anomalities, technology or othere were exported from the US in accordance with the Export Administration RED ROZZZ THE CALL AN E RD OZA1 O1 TRM 0400B O 21.89 X AL 21.89 LA 23.20 ND 23.20 UF 0.00 PRIMARY
SHIPMENTID: MNSH4MRD9294F Pouered by IShip(r) 65/19/2022 63:23 All Pacific Time N SEENOTE ON REVERSE regueing UPS Term, and notice of limitation regueinsche Comparison for the Stategore critics that the critic Regueinsche Comparison for the publicht. THAIRE YOU! ID #: /RG97P2PP Wallemaart 502-326-9166 Mgr : M 3706 DIANN MARILE 502-326-9166 Mgr : M 3706 DIANN MARILE LOUISUILLE KY 44 STM 00526 OP4 000327 TER INK 088495296361 TOT TAX 1 6.000 % SUBTOT TAX 1 6.000 % TOT DEBIT TE CHANGE DI EFT DEBIT PAY FROM	The UPS Stores The UPS Stores and Hability. Where allowed by law, shipper authorities UPS to act as forwarding agent for export control and anomalities, technology or othere were exported from the US in accordance with the Export Administration RED ROZZZ THE CALL AN E RD OZA1 O1 TRM 0400B O 21.89 X AL 21.89 LA 23.20 ND 23.20 UF 0.00 PRIMARY
SHIPMENTID: MNSH4MRD9294F Pouered by (Ship(r) 65/19/2022 67:23 RI Pocific Time N SELNOTCON REVERSE repuding US terms, and notice of limitation sector and the sector an	The UPS Stores The UPS Stores and Hability. Where allowed by law, shipper authorities UPS to act as forwarding agent for export control and anomalities, technology or othere were exported from the US in accordance with the Export Administration RED ROZZZ THE CALL AN E RD OZA1 O1 TRM 0400B O 21.89 X AL 21.89 LA 23.20 ND 23.20 UF 0.00 PRIMARY
SHIPMENTID: MNSH4MRD9294F Pourred by Ship(r) 85/19/2022 85/23 AF Pacific Time N SENDED ON REFERENCE OF HERMS and notice of the black content provides from off the BS degree of the black content provides of the black of the black segnitistic Diversion contrary to buy is probabled. Thank you? ID #:7R097P2PP <b>Wallmaart 1</b> 502-326-9166 Mgr : M 3706 DIANN MARIE LOUISVILLE KY 44 STN 00526 OP4 000327 TEB INK 088495296361 TAX 1 6.000 % SUBTID TAX 1 6.000 % DEBIT PAY FROM 23.20 TOTAL PURCHASE US DEBIT **** **** REF # 219100103488 NETWORK ID. 0076 APPR COD US DEBIT TE ALL SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUB	The UPS Stores not liability. When allowed by low, shipper authorities UPS to act as forwarding agent for experience with the best of action monomorphic, technology or of human wave exposed from the UP in according with the Despired Action in the BBD R0222 THE CALL AN E RD 02241 01 TRM 04008 0 21.89 X AL 21.89 1.31 AL 23.20 UP 0.00 PRIMARY ***** 3265 I 0 DE 685284
SHIPMENTID: MNSH4MRD9294F Pourred by Ship(r) 85/19/2022 85/23 AF Pacific Time N SENDED ON REFERENCE OF HERMS and notice of the black content provides from off the BS degree of the black content provides of the black of the black segnitistic Diversion contrary to buy is probabled. Thank you? ID #:7R097P2PP <b>Wallmaart 1</b> 502-326-9166 Mgr : M 3706 DIANN MARIE LOUISVILLE KY 44 STN 00526 OP4 000327 TEB INK 088495296361 TAX 1 6.000 % SUBTID TAX 1 6.000 % DEBIT PAY FROM 23.20 TOTAL PURCHASE US DEBIT **** **** REF # 219100103488 NETWORK ID. 0076 APPR COD US DEBIT TE ALL SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUBSTON SUB	The UPS Stores not liability. When allowed by low, shipper authorities UPS to act as forwarding agent for experience with the best of action monomorphic, technology or of human wave exposed from the UP in according with the Despired Action in the BBD R0222 THE CALL AN E RD 02241 01 TRM 04008 0 21.89 X AL 21.89 1.31 AL 23.20 UP 0.00 PRIMARY ***** 3265 I 0 DE 685284
SHIPMENTID: MNSH4MRD9294F Poured by Ship(r) 85/19/2022 85/23 AT Pacific Time N SENDEDONOREMENT control to the formation of the billion contention output to bill by the sended of the billion contention output to bill by the sended of the billion contention output to bill by the sended of the billion contention output to bill by the sended of the billion Contention output to bill by the sended of the billion Contention output to bill by the sended of the billion Contention output to bill by the sended of the billion Statement output to bill by the sended of the billion Content output to bill by the sended of the billion Statement output to bill by the sended of the billion Statement output to bill by the sended of the billion Statement output to b	The UPS Stores not liability. When allowed by low, shipper authorities UPS to act as forwarding agent for experience with the best of action monomorphic, technology or of human wave exposed from the UP in according with the Despired Action in the BBD R0222 THE CALL AN E RD 02241 01 TRM 04008 0 21.89 X AL 21.89 1.31 AL 23.20 UP 0.00 PRIMARY ***** 3265 I 0 DE 685284
SHIPHENTID: MNSH4MRD9294F Poured by IShip(r) 85/19/2822 89:23 AT Pacific Time N SENDTOURDERSE requesting UPS Terms and notice of the black substructures of the black of t	The UPS Stores not liability. When allowed by low, shipper authorities UPS to act as forwarding agent for experience with the best of action monomorphic, technology or of human wave exposed from the UP in according with the Despired Action in the BBD R0222 THE CALL AN E RD 02241 01 TRM 04008 0 21.89 X AL 21.89 1.31 AL 23.20 UP 0.00 PRIMARY ***** 3265 I 0 DE 685284
SHIPMENTID: MNSH4MRD9294F	The UPS Store« not liability. When allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and and the allowed by two, shipper authorities UPS to act as forwarding agent to act as fo
SHIPMENTID: MNSH4MRD9294F Pourred by IShip(r) 85/19/2022 89:23 AT Pacific Time N SENDTOURDERSE requesting UPS Terms and notice of the black continuousless (recorded form that its accession of the black of the	The UPS Store« not liability. When allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and monocolities, whether allowed by two, shipper authorities UPS to act as forwarding agent to copy of control and and the allowed by two, shipper authorities UPS to act as forwarding agent to act as fo
SHIPMENTID: MNSH4MRD9294F         Pourred by Ship(r)         85/19/2022 85:23 AT Pacific Time N         SENDEDURGENESS Foundations of the state	The UPS Stores The UPS Stores The UPS Stores The UPS Stores The UPS Stores The UPS Stores The UPS Stores BD R022 THE COMPANY THE CO

Scan for 30-day free trial.

Low Prices You Can Trust, Every Day. 07/10/22 12:26:52



LYNDON 8127 LA GRANGE RD LOUISVILLE, KY 40222-9998 (800)275-8777 07/16/2022 11:08 AM Product Qty Unit Price Price First-Class Mail@ 1 \$2.40 Large Envelope Louisville KY 40203 Weight: 0 1b 5.20 oz First-Class Mail@ 1 \$3.36 Large Envelope Louisville, KY 40222

Weight: 0 lb 9.20 oz First-Class Mail@ 1 \$2.40 Large Envelope Louisville, KY 40211 Weight: 0 1b 5.20 oz First-Class Mail® 1 \$2.40 Large Envelope Louisville, KY 40211 Weight: 0 1b 5.20 oz First-Class Mail@ 1 \$2.40 Large Envelope Louisville, KY 40210 Weight: 0 1b 5.20 oz

First-Class Mail@ 1 \$2.40 Large Envelope Louisville, KY 40210 Weight: 0 lb 5.20 oz

\$2.40

\$2.40

\$2.40

\$2.64

\$2.40

- First-Class Mail® 1 Large Envelope Louisville, KY 40203 Weight: 0 1b 5.20 oz
- First-Class Mail@ 1 Large Envelope Louisville, KY 40220 Weight: 0 lb 5.20 oz
- First-Class Mail@ 1 \$2.40 Large Envelope Louisville, KY 40216 Weight: 0 1b 5.20 oz
- First-Class Mail® 1 Large Envelope Shepherdsville, KY 40165 Weight: 0 lb 5.20 oz
- First-Class Mail@ 1 \$2.40 Large Envelope Louisville, KY 40208 Weight: 0 lb 5.20 oz
- First-Class Mail® 1 \$2.16 Large Envelope Louisville, KY 40216 Weight: 0 lb 5.00 oz
- First-Class Mail@ 1 \$2.64 Large Envelope Louisville, KY 40216 Weight: 0 lb 6.10 oz
- First-Class Mail® 1 Large Envelope Louisville, KY 40205 Weight: 0 1b 6.50 oz

First-Class Mail@ 1 Large Envelope Louisville, KY 40203 Weight: 0 lb 6.00 oz

Grand Total: \$37.20

# **Quote for minutes**

message

**Ron Craig** <ron.craigjr@outlook.com> To: mlwalk1@gmail.com <mlwalk1@gmail.com>

Wed, Aug 17, 2022 at 10:36 AM

Hey Mike,

It will be an additional \$127.00 for postage, envelope for mailing, stuffing, taking to post office.

Postage - \$72.00

Envelope - \$30.00

Stuff & take to post office - \$25.00

Thank You,

Ernies Print Shop 3394 Burkland Blvd. Shepherdsville, KY 40165 502-969-8585/Office

Aug 1 2027

	aug 2. 2022
	Guod afternoon family
	The 2022 summer event cooking was a
	Success There was over twenty new corner whet
	show up that was able fellowship, eat and get
	phone number. I would also like to thank the
	trusted much ber of NA that show up and show
	out with helping Cooking on the grill and serving
	the fact I was the DJ thank you for help'ru
	the activity Committee and making this event an
	success. Though to the speaker for sharing there
· .	experience, strength and hope. and the area
	bodies for believen in mc.
	budget
	850.00
	- 1100 PNC
	- 82.13 Kroger Grill etc
	- M. Ol Kroger water. Soda. Chips
	- 11.75 music Dollar General Naphin
	- 65.95 Doopwop mucc
	- 53:00 arean Dolar Tree. Geme etc
	- 10.70 five Below. Ball etc
	- 392.74 Gordop Jood
	- 23.92 Corden Soci Hambarger
	27.54 - ice family Dollar Ple1.74 over budget 11.74
	Flel. 14 Over dayer in

\_\_\_\_\_

# LASCNA LITERATURE REPORT

Hello Louisville Area,

At the last area service meeting on 07/10/22 the Louisville area took in \$650.36 for literature. There was a new order placed for \$1,617.95 (receipt attached). Unfortunately, due to being short staffed the literature order from World has not yet arrived. Backorders will be delayed another month.

Please remember, all literature orders must be placed by 3:30, any orders after that time will not be filled. No exception.

Attached you will find a copy of the literature order form for your groups.

In loving service, Barrett G.

Description	Shipped	Unit price	Amount
Recovery Keytags(English,60 days,Green)	50	0.56	28.00
Recovery Keytags(English,30 days,Orange)	25	0.56	14.00
Recovery Keytags(English,Welcome,White)	100	0.56	56.00
Recovery Keytags(English,Multi-year,Black)	50	0.56	28.00
Bronze Medallions(English,21 years,Bronze)	10	3.40	34.00
Bronze Medallions(English,20 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,19 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,18 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,17 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,16 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,15 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,14 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,13 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,12 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,1 year,Bronze)	20	3.40	68.00
Bronze Medallions(English,22 years,Bronze)	5	3.40	17.00
Bronze Medallions(English,23 years,Bronze)	10	3.40	34.00
Bronze Medallions(English,24 years,Bronze)	5	3.40	17.00
	Net invoice	B	1,592.60
Le	Less Invoice discount		103.52
S	Shipping & Handling	D	128.87
	Sales tax	×	0.00
	Invoice total ( \$ )		1,617.95

Vour reference:	A		
	Shipped	Unit price	Amount
Basic Text Hardcover	69	12.15	838.35
Sponsorship	3	8.75	26.25
In Times of Illness	30	3.40	102.00
The Group Booklet	20	1.00	20.00
A Guide to Local Services in NA	1	7.50	7.50
IP #1 Who, What, How, and Why	20	0.23	4.60
IP #5 Another Look	20	0.23	4.60
IP #6 Recovery & Relapse	20	0.23	4.60
IP #8 Just for Today	200	0.23	46.00
IP #9 Living the Program	20	0.23	4.60
IP #11 Sponsorship, Revised	50	0.23	11.50
IP #12 Triangle of Self-Obsession	20	0.23	4.60
IP #14 One Addict's Experience	20	0.23	4.60
IP #20 H&I Service & NA Member	20	0.23	4.60
IP #21 The Loner–Staying Clean	20	0.33	6.60
IP #22 Welcome to NA	50	0.23	11.50
Recovery Keytags(English,90 days,Red)	25	0.56	14.00
Lit Rack: Wire 16-Pocket	1	27.70	27.70

ico Abtancon (ANCA committee members 15 06 toti ACAA Sub committee the odly one poistion open & that is the secondarya LACAA, committee has CIV 300 200 funtion tresurer repub I Dont have the have 20 Ac mont INIU the sensue

**GROUP INFORMATION REPORT** HET Group Name\_\_\_\_ \_Date\_\_ GSR/GSRA Name lebe to would Group Report DO IN2 1 6 Me cen on bs due to cove useo MOD eat Birthdays/Anniversaries at

GROUP INFORMATION REPORT 6 HOME GROUP: ANOther Chance Grouper: 0.7.22 GSR / GSRA NAME: Whithe Vask **GROUP REPORT:** ſţ M 1XX VC. 11

NAME:	CELEBRATION DATE:	CLEAN TIME:
More For		
August		
v		

**GROUP INFORMATION REPORT** HOME GROUP: / Fighland Peace DATE: 0/7/22 Kaumbeck GSR/GSRA NAME: Joh GROUP REPORT:  $\mathcal{A}$ meetweekly and 100 2) srch  $^{\prime}$ 3 ichla (okee 6 0

NAME:	CELEBRATION DATE:	CLEAN TIME:
Nick 6	8/19	37 years

**GROUP INFORMATION REPORT** 

Date 8/7/22 Group Name JUST Joquement 41 GSR/GSRA Name Group Report JUST US meets on Saturday 5:00pm-Le 30 pm at Christ Church Cathedral at 425 Street Kouisville, Ky 40208 (No Affiliation). Off street parking available behind the church. This is a closed meeting for addict Norty (C/LS/D/W). On the month we collected # 185.00.# /lelp. 33 went to LASCNA, # 3. 67 was paid for Literature for (D)medallion, was sent to NAWS Or alluding me to serve Birthdays/Anniversaries Manay B. alephates 33 yrs dean M

Sept 6042

# UN RECURSO PARA SU COMUNIDAD

la recuperación en NA se centra en el problema de la adicción. NO en ninguna sustancia en particular.



ES LIBRE Y

GRATUITO

¿Problemas con tu consumo de drogas, conoces alguien que los tenga? Podemos ofrecerte una solución.

## ¿Qué es el Programa de Narcóticos Anónimos (NA)?

NA es una confraternidad de hombres y mujeres que están aprendiendo a vivir sin drogas. Somos una asociación sin fines de lucro y <u>no tenemos ningún tipo de cuotas ni honorarios.</u> Somos adictos en recuperación y nos reunimos con regularidad para ayudarnos a permanecer "limpios". Este es un programa de abstinencia completa de todo tipo de drogas. Sólo hay un requisito para ser miembro: el deseo de dejar de consumir.

#### ¿Quienes son miembros de NA?

Cualquier persona que quiera dejar de consumir drogas puede convertirse en miembro de Narcóticos Anónimos, independientemente de las drogas que consuma o haya consumido. Todos aquellos que crean tener un problema con las drogas, legales o ilegales, incluido el alcohol son bien recibidos.

# ¿Anónimo?

La premisa básica del anonimato permite que los adictos asistan a las reuniones sin miedo a posibles reperousiones legales o sociales. Es lo que los adictos tiene muy en cuenta antes de asistir por primera vez a una reunión. El anonimato estimula también a un ambiente de igualdad. Ayuda asegurar que ningún individuo ni ninguna circunstancia se considere más importante que el mensaje de recuperación que se comparte en NA.

# ¿Cómo funciona?

La base de recuperación del programa de Narcóticos Anónimos es una serie de actividades personales conocidas como Los Doce Pasos. Estos "pasos" incluyen la admisión que existe un problema, la búsqueda de ayuda, la auto-evaluación, compartir a nivel confidencial, reparar los daños causados y trabajar <u>con</u> otros adictos a las drogas que quieran recuperarse. Creemos que una clave de nuestro éxito es el valor terapéutico de adictos trabajando con otros adictos pero en una base de igualdad. Los <u>Grupos</u> son el vehículo más poderoso que tenemos para levar el mensaje al adicto que todavía sufre, y solo se dedica a ello. Nuestro mensaje es: "Que un adicto, cualquier adicto, puede dejar de consumir, perder la obsesión por el consumo y encontrar una nueva forma de vida."

Narcóticos Anónimos No es un programa religioso, no opera unidades de desintoxicación, no tiene casas de alojamiento y no esta afiliada a dichas instituciones donde funciona. No somos reformadores, no reclutamos ni tratamos de persuadir a las personas para que sean miembros. No diagnostica, pronostica de forma psicológica o medica, no provee consejos legales, matrimoniales, vocacionales o de otro tipo. No provee servicio sociales y no acepta dinero por sus servicios por fuentes públicas o privadas u otro tipo de agencia.

#### LOUISVILLE, KENTUCKY

Linea de Ayuda: 502-996 1955 🔏

Sitio Web: www.na.org





(A)

Sique Viniendo Louisville

FOROZONAL

#### LATINOAMERICA

Sitio Web: www.forozonalatino.org

GROUP INFORMATION REPORT 1/22 Lose The Destire DATE: 8 HOME GROUP: Nelle H B ermica GSR / GSRA NAME:\_\_

## GROUP REPORT:

m dw

NAME:	CELEBRATION DATE:	CLEAN TIME:
Bernice E	September 10th	3 years
		U
		×

GROUP INFORMATION REPORT
Group Name REACH FOR Recovery Date 8-7-22
Group Name REACH FOR Recovery Date 8-7-22 GSR/GSRA Name VICKI D.
Group Report Nothing to Report
-
Birthdays/Anniversaries
JEFF R. August 27, 2022
CARLAW SEPT. 3, 2022

**GROUP INFORMATION REPORT** HOME GROUP: RAW Group-Recover atubrk DATE: 8/7/22 GSR/GSRANAME: Melissa B./ Jake M. members in attendance For GROUP REPORT: Burness, voted homearou ts to shir mone VOI De Annive san mee 10 K O anlion TYELNWO 000 au

NAME:	CELEBRATION DATE:	CLEAN TIME:
Melissa B.	8/25/22	4yrs.
		and the second
		han Staring
and and the second second		

GROUP INFORMATION REPORT
HOME GROUP: WOMERI IN RECOVERY DATE: 8/1/2022
GSR/GSRANAME: Aufonia Sander
GROUP REPORT: <u>WOMEN IN RECOVERY CONTINUES to meet ON Thursday 7:00-</u> <u>9:30 pm qu the zoom platform 81264375978</u>
PASSword GEBFOL, a closed meeting for women addiess ON/4. IN July 54, 9+ tended (8 New Comers)
WE paid Collected 953,25 IN 7th tradition, 13,25 want to pay zoom, 97:35 Literature, 932.66 was
a cleaniversary in August, we continue to Cleaniversary in August, we continue to Celebrate Repovery every day

\_

NAME:	CELEBRATION DATE:	CLEAN TIME:



# ¿PROBLEMAS CON DROGAS?

# NARCÓTICOS ANÓNIMOS PODEMOS AYUDARTE

LIBRE - GRATUITO - CONFIDENCIAL

# LÍNEA DE INFORMACIÓN LOUISVILLE, KENTUCKY 502-996-1955



WWW.NA.ORG